IECSRGBu9-Dreieckshelligkeitt*
t* Ync_YW nc— =100,

*1EcsReBUS=50 (Y/Y) Y12 (Y, =18, ¥, J100<Y<=Y,)
t*n(8,6)=13,t*,(18)=50,t*y(90)=191

log[t*/t* =0, m,=0,83
bereich
1,518
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IECSRGBuU9
Normfarbwertdifferenz
Yoc=Yw - nc=100,

t*1EcsraBus=50 (YY) M1 2(Y,=18, Y,/ 100<Y<=Y,0)
log(dY) = (1/1,2) l0g[L,2(,/50)] + [1~(1/1,2)] log¥)

=50, dY,=2,40 dY,/Y,=0,1333
-t
Iog(dY)=2 40 m=0,ip 8 82"

bereich

log (AY/Y) IECSRGBU9
. Normfarbwertemfindlichkeit
SOV Yoc=Yw - nc=100,
t*1EcsraBus=50 (YY) M1 2(Y,=18, Y, /100<Y<=Y,0)
log(dY/Y)= log[1,2(Y,/50)] - (1/1,2) log{/Y,)
= (1/1,2) log[1,2¢,/50)] - (1/1,2) log{)
>
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Yn=3.6

log (Y/AY)
C,=(Y/AY)

IECSRGBuU9
Normfarbwertkontrast

Yoc=Yw - nc=100,
t*1EcsraBus=50 (YY) M1 2(Y,=18, Y, /100<Y<=Y,0)
log(Y/dY)= - log[1,2(/,/50)] + (1/1,2) log¥/Y)

= - (1/1,2) log[1,2(,/50)] + (1/;2) logy)
* =50, dY,=2,4Q Y, /dY,=7

bereich
L Yu=18
= log

Yn=3.6
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IECSRGBUO relative Dreieckshelligkeitt*/t*,
t/t* u Ync‘YW nc_loox

t*1EcsreBug=50 (Y/Yy) Y1 2(Y,=18, Y, /1002Y<=Y, )
t*n(3,6)=13,t*,(18)=50,1*,,(90)=191

log[t*/t* ]=0, m,=0,83
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Yne=Yw nc=100,
t*1EcsreBug=50 (Y/Yy) M1 2(Y,=18, Y,/ 100<Y<=Y, o)
log(dY/dY,) = [1-(1/1,2)] log¥(/Y,)

t*,=50, dY,=2,4Q dY,/Y,=0,1333
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log [(AY/Y) I (AYIY)] IECSRGBU9 relative
Normfarbwertempfindlichkeit
S/Su=OYMIAYY), yomy TS
t*1EcsroBug=B0 (Y/Yy) M1 2(Y,=18, Y, /100<Y<=Y, o)
log[(dY/M(AYY),] = - (1/1,2) log¥/Y,,)
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o
log(@Y/YY(dYIYLJ=0, ny=-0,33 i%e
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Yn=3.6
log [(Y/AY) I (YIAY),] IECSRGBUO relativer
Normfarbwertkontrast

CrlCry=(YIAV)(YIAY)y vty ™ 2300,

t*1EcsreBug=50 (Y/Yy) M1 2(Y,=18, Y, /100<Y<=Y, o)
logI(Y/dY)/(Y/dY),] = (1/1,2) loglY/Y,)
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